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Oscles
y = dy/dt

(y) y = y(t)

*
- Examples : y' = y 2 , y = 1y1'

Question : What could possibly go wrong ?



Executive summary!

Solve y : fly) y(tal : yo

DI) -> continuous near y : You

then a solution exists locally
② Moreover

,

if f is Lipschitz

Cor differentiable) near
y : Yo,

the local solution is unique

& If f is analytic near y : you
the unique local solution is analytic
④ #) If(y)1 < Ky for some K constant

,













i = Ct

Sin : )de

i = ++

Y= (Example in

y(x) = 1 to + 1
, yc = 1

1- it 1 + C = 1

C =
- 2





What 1/2 T
Y = ly) ~

What could possibly go wrong
?

y ' = 1
Y = 10

1/2jY= y= llz-

! -spe
=. 7

.

It y =- nn 19y = N,
= 'R

= (y)"
y := y














